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� QRWD= D uhvrox�f�dr frpsohwd gdv shujxqwdv lqfoxl d mxvwl�fd�f�dr gr udflrf�lqlr xwlol}dgr h d dsuhvhqwd�f�dr grv
f�dofxorv hihfwxdgrv1

41 Ghvfuhyd vxflqwdphqwh r vlvwhpd gh dtxlvl�f�dr gh frrughqdgdv frqkhflgr sru Vlvwhpd P�ryho Wulglphqvlrqdo +6G,/
irfdqgr dvshfwrv frpr=

0 htxlsdphqwr qhfhvv�dulr

0 judqgh}dv phglgdv

0 ghgx�f�dr gdv h{suhvv�rhv txh shuplwhp d rewhq�f�dr gdv frrughqdgdv gh srqwrv qr remhfwr

0 fdoleud�f�dr gr vlvwhpd +ghwhuplqd�f�dr grv vhxv sduadphwurv,1

51 Frqfoxd txh r srqwr dmxvwdgr d xp frqmxqwr gh v srqwrv phglgrv/ qr vhqwlgr grv p�lqlprv txdgudgrv/ frlqflgh
frp r fhqwur gh pdvvd gr vlvwhpd irupdgr sru hvvhv srqwrv1

61 Frqvlghuh r sureohpd gr dmxvwdphqwr gr sodqr dwudy�hv gr p�hwrgr grv p�lqlprv txdgudgrv1

+d, H{soltxh frpr �h hihfwxdgd d fruuhf�f�dr gr udlr gd hvihud gh sdosd�f�dr vreuh rv sduadphwurv gr sodqr dmxvwdgr1

+e, Sdud vh hihfwxdu r dmxvwdphqwr/ vxsrqkd txh vh phgludp dv frrughqdgdv grv 7 srqwrv vhjxlqwhv=

Srqwr {l |l }l
S4 81897; 61:486 <4195<;
S5 8169<8 45178:; ;616<:3
S6 041<8:3 4<18837 ;713939
S7 04919938 4<1:5:5 <:1::57

d sduwlu gdv txdlv vh rewlyhudp rv sduadphwurv gr sodqr jhrp�hwulfr dmxvwdgr=

� @ i�5=<<57>�44=587<> 448=::76> 3=8;4;> 3=8:;9> 3=8:49j =

Vdehqgr txh rv srqwrv irudp phglgrv frp xp sdosdgru hvi�hulfr frp udlr gh 6=3353 pp/ ghwhuplqh rv
sduadphwurv gr sodqr pdwhuldo ds�rv d fruuhf�f�dr gr udlr gr sdosdgru1

+f, Qr �qdo gr dmxvwdphqwr irudp rewlgrv rv vhjxlqwhv ydoruhv sdud rv uhv�lgxrv dvvrfldgrv d fdgd xp grv srqwrv

Srqwr Uhv�lgxr yl
S4 03148<6
S5 313;34
S6 316337
S7 0316484

Ghwhuplqh r ghvylr gh irupd gr sodqr dmxvwdgr1

71 Frqvlghuh d hvihud H

H @ i65=3333>�85=3333>�55=3333> ;=3333j =



+d, Ghwhuplqh d surmhf�f�dr +ruwrjrqdo, gh H vreuh d uhfwd

u @ i�56=3333> 7=3333> 6:=3333> 5=3333> 4=3333> 3=3333j =

+e, Ghwhuplqh dv frrughqdgdv gr srqwr p�hglr gr phqru vhjphqwr gh uhfwd txh xqh d hvihud H frp r sodqr �/
gdgr sru

� @ i�8=3333> 55=3333> 6=3333> 6=3333>�5=3333> 9=3333j =

81 Lqwhjudgr qxp hvwxgr frqgxfhqwh dr glphqvlrqdphqwr gh xp eud�fr gh vxvshqv�dr gh xp dxwrp�ryho/ irl uhdol}dgd
d phgl�f�dr gh 6 srqwrv gd sh�fd/ ghvljqdgrv sru S4/ S5 h S6/ gh frrughqdgdv qr uhihuhqfldo dvvrfldgr �d P�dtxlqd

gh Phgl�f�dr gh Frrughqdgdv=
Srqwr {l |l }l
S4 813333 61:333 <19333
S5 916333 4517333 ;613333
S6 0513333 <17333 6713333

Rv wuahv srqwrv uhihulgrv hvw�dr vlwxdgrv vreuh xpd flufxqihuahqfld gh�qlgd vreuh d sh�fd/ hvwdqgr S4 h S5 vlwxdgrv
hp srvl�f�rhv gldphwudophqwh rsrvwdv1

+d, Frqvwuxd xp uhihuhqfldo0sh�fd/ gh prgr txh=

0 d vxd ruljhp vhmd r fhqwur gh pdvvd grv 6 srqwrv phglgrv

0 r qryr sodqr R{} vhmd r sodqr gd flufxqihuahqfld gh�qlgd sru S4/ S5 h S6
0 S4 shuwhq�fd �d sduwh srvlwlyd gr qryr hl{r R{1

+e, Ghwhuplqh/ qr uhihuhqfldo0sh�fd/ rv sduadphwurv gd flufxqihuahqfld uhihulgd1


